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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) Do as directed.
1. Show that A (-3,-2), B (5, 2) and C (9, 4) are collinear. 03
2. Show that the points (12,8), (-2,6) and (6,0) are the vertices of an 04
isosceles right angle triangle.

(b) Do as directed.
1. Find the equation of the line passing through (2,3) and (3,-1). Also 03
find the slope of the line.

2. Find the angle between two straight lines NE) x-y+1=0 and 04

x-/3 y-1=0.

Q.2 (@) Do as directed.
1. Find the centre and radius of the circle x*+y*-2x+4y-1=0. 03
2. Obtain the equation of the circle with centre (1,1) and passing 04

through the point (-2,4).

(b) Do as directed.

1. If f(x) =—— _ then show that f(x)-f (-x) =I. 03
l1+x
lim  x'—x’=5x+6 04
2. Evaluate: ,_,» 5
x°=5x+6
OR
(b) Do as directed.
_ 03
1. If f(x) =log (l—x] then show that f( 2x . ) =2/ (x).
1+x 1+ x
lim  y2a—x —+/x 04
2. Evaluate : , ,, —
a-—x
Q.3 (@) Do as directed.
1. Differentiate /x using definition. 03
2 —
2. 1F f(x) = = ! then find /. 04

x°+1 dx



Q.3

Q4

Q.4

(a)

(a)

(b)

(@)

(b)

Do as directed.

1. If x = acos*0, y = bsin*0 then ﬁndﬂ )

dx

2. Ify=log(x++/x*> +a” ) then ﬁnd? .
X

OR

Do as directed.
1. Differentiate 3** using definition.

2. Ify= 1+s?nx , then find Q
1-sinx dx

Do as directed.

1. If x*+xy+y”* = 10 then ﬁnd% .
X

2. If y = (sinx) "™ then ﬁndﬂ :
dx

Do as directed.

1. If y = sin ' x then prove that (1-x*)y,-xy,=0.
2. The motion of a particle is given by the law s = 2t°-3t>-12t+5.Find
the velocity and acceleration at t=2 sec.

Do as directed.

2
1. Evaluate : I M dx

x+2x

2. Evaluate : I m dx

2
COS X

OR

Do as directed.

1.Ify= a-e+b-e™ , then prove that yz—kzy =0.

2. Find the maximum and minimum value of f(x) = x Jrl .
X

Do as directed.
1. Evaluate : Isecz x-cosec’xdx

2

dx

2. Evaluate : I

6

03

04

03

04

03

04

03
04

03

04

03
04

03

04



Q.5 (a) Do as directed.
1. Evaluate : I xe'dx

; NS—x
2. Evaluate : | ———dx
}[VS—x ++/x

(b) Do as directed.

2 3

1. Evaluate : _[ (log x) dx
X

1

2. Find the area of the region bounded by the curve y = x, x-axis
and the lines x =2 and x = 3.

OR

Q.5 (a) Do as directed.
1. Evaluate : I xsin xdx

Va

a/cotx dx
Jtanx ++/cotx

2
2. Evaluate : j
0

(b) Do as directed.

-1
X

2

1
1. Evaluate : _[ tan dx

l+x
0
2. Using integration find the area of the circle x*+y* =1
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